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QUESTION 1

An integration developer is developing a mediation module using the WebSphere Integration Developer. The mediation
module interacts with different databases, via the database lookup mediation primitive and an Enterprise Information
system (EIS) binding. It is expected that during the lifetime of this solution, the databases connection details will change.
The customer wants to avoid downtime of the applications as much as possible. What is the BEST way for the
integration developer to implement a solution so that when database connection details change, downtime is
minimized? 

A. Update the details of the database connections, then deploy the updated EAR file. 

B. Define the various database connection details as WebSphere Variables. When a change in the connection details
occurs, update the WebSphere Variables on the server and restart the server. 

C. Define the various database connections used as JNDI names. When a change in the connection details occurs,
update the JNDI details on the server and restart the application. 

D. Define a properties file for the application to load on startup. When a change in the connection details occurs, update
the details in the properties file and restart the application. 

Correct Answer: C 

 

QUESTION 2

An integration developer is developing a mediation flow component using dynamic routing capabilities. The integration
developer uses an Endpoint Lookup primitive. The match policy selected is "Return first matching endpoint and set
routing target". If the registry query returns matches, which of the following represents the behaviour of the Endpoint
Lookup primitive? 

A. The alternate targets list in the SMO body is cleared. 

B. The alternate targets list in the SMO header is cleared. 

C. The lookup field in the SMO header is populated with the returned endpoint 

D. The tag in the SMO header is updated with the returned endpoint. 

Correct Answer: B 

 

QUESTION 3

An integration developer wants to copy a part of the mediation flow into a subflow to make it a reusable 

artifact. 

Which of the following nodes or mediation primitives can be directly copied to the subflow? 

A. Input 

B. Callout 
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C. Input Response 

D. Custom Mediation 

Correct Answer: A 

 

QUESTION 4

An integration developer has created two versions of a component for debugging purposes. Which of the following
statements BEST reflects the behavior of the two versions of the components in the integrated debugger? 

A. The versions run in parallel in the integrated debugger. 

B. The versions run sequentially in the integrated debugger. 

C. The integrated debugger must be configured to run both versions in debug mode. 

D. The integrated debugger runs only the latest version of the component in debug mode. 

Correct Answer: A 

 

QUESTION 5

An integration developer has created a mediation module that receives data through a JMS Export binding and has also
developed an independent web application to display the flow of data through the corresponding JMS Destination.
Which one of the following options correctly describes the actions to be performed on the dependency editor of the
module in order to deploy the Web application within the same module? Add the Web project of the Web application in
the J2EE section and: 

A. select the corresponding \\'On Build Path\\' option. 

B. select the corresponding \\'Deploy with Module\\' option. 

C. deselect the corresponding \\'On Build Path\\' option. 

D. deselect the corresponding \\'Deploy with Module\\' option. 

Correct Answer: B 
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